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Megan has 3-star stickers. Lola has 3-star stickers too. 

How many tokens do they have altogether? 

 

+ = 

t

Adel has 5 cars and Amalia gave him 4 more cars. How 

many cars does Abdulla have? 

Answer: 

+ = 

There are 6 birds in a tree and 7 birds are in the next 

tree. How many birds are in the tree altogether? 

Answer: 

+ = 

Dad eats 6 strawberries at breakfast and 3 strawberries 

at lunch. How many strawberries did  he eat altogether? 

 

+ = 
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Leo has 4 sweets and mum gives him 2 more.  How 

many sweets does he have altogether? 

 

Sue has 2 old pencils. She gets 8 new pencils for her 

birthday. How many pencils does she have now? 

 

  
 

 
                  

 

 +       =                  +         = 

 
 

 
 

 

  

Sue’s dad has 4 chocolate bars and Sue has 9 chocolate 

bars.  

How many chocolate bars do they have altogether?  

 

A dog has 5 sticks and finds 3 more. How many 

sticks does the dog have altogether? 

 

  Answer: Answer: 

+ = + = 
 

 



 

  

There are 15 cars in the car park. 4 more cars park in             

the car park. How many cars are there altogether? 

  

Luis has 15 balloons. Amna has 7 balloons. How many 

balloons do they have altogether?

 

Answer: Answer: 
    

                                          Cars park 
 
 

 

  

 

There are 16 birds in a tree and 7 birds are in the next 

tree. How many birds are in the tree altogether? 

  

 

Stella has 14 sweets and mum gives her 2 more. How 

many sweets does she have altogether? 

 
 

  

Answer: Answer: 
 

 
 

 
 

 
 

 
 



 

  

Grace has 12 old pencils. She gets 8 new pencils for her 

birthday. How many pencils does she have altogether? 

  

Falah’s dad has 24 chocolate bars and Falah has 9 

chocolate bars. How many chocolate bars do they have 

altogether? 

 

Answer:                          Answer: 
 

 
 
 

 

  

A dog has 1 5 sticks and finds 3 more. How many 

sticks does the dog have altogether? 

  

Dad eats 10 strawberries at breakfast and 4 

strawberries at lunch. How many strawberries did                                     he 

eat altogether? 
 
 

 

Answer: Answer: 
                                       

 

 
 

 
 

 
 

 
 


